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  : (1) -I     . 
   (2) -I      . 
   (3) -II . 
 
 

 – I 
       
1.      . 01-04-2021      : 20  

  (`)  (`) 
    80,000 – 
     60,000 – 
     40,000 – 
    – 1,80,000 
 1,80,000 1,80,000 

 . 31 , 2022         :   

 ` 
   3,00,000 
  10,000 
    3,20,000 
    20,000 
  4,80,000 
  20,000 
    1,00,000 
    20,000 
    30,000 
   1,60,000 
   18,000 
     9,70,000 
   9,78,000 
 12,90,000 

          ,   
 . 31-03-2022     . 
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2. (A)     350      .   
 50  ,        : 10     (`) 
  1,00,000 
  [10,000   ` 10] 1,00,000 
  [  ]  50,000 
   [10,000   ` 5] 50,000 
   1,00,000 
 4,00,000 

      80%      .                  
` 12,25,000         ,     
       . 

     ` 12,25,000    ? 
  (B)         . 10 
 
3.       ‘X’  ‘Y’.         

       .        : 20   

 ‘X’ ‘Y’ 
   3000 2000 
  () 6 3 
   () 3 5 
   100 50 
  300 100 

 -      :    (`) 
  87,500 
   2,40,000 
   22,500 
   30,000 
 3,80,000 

        . 
 (1)    
 (2)               . 
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4. (A)      50%  1,00,000    . 10 
         :     (`) 

  32 
  8 
   48 (50% ) 
   8 (25% ) 

      ` 120 . 
            .      

 - 
  (1)    10%  . 
  (2)    10%  . 
  (3)    10%  . 
  (4)      . 
           10%   .   

 ` 21,00,000    ,        
         ?      
  ,   . 

 
(B)     .   10 
  

 – II 
5.          : ( ) 10 
 (1) -   ________     . 
  (a)     (b)    
  (c)    (d)     
 
 (2)    ________  . 
  (a)  -  (b)      
  (c)   (d)    
 
 (3) -     ________    . 
  (a)     (b)   
  (c)   (d)     
 
 (4) ________      . 
  (a)   (b)   
  (c)    (d)    
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 (5)  ... (ABC)  ‘’    _______  . 
  (a)   (b)     
  (c)    (d)     
 
 (6)            ,   _________ 

  . 
  (a)     
  (b)     
  (c)  
  (d)     
 
 (7)     ________   . 
  (a)   (b)   
  (c)   (d)     
 
 (8) _________       . 
  (a)   (Cost pool) (b)   
  (c) MRP  (d)   
 
 (9) ________       . 
  (a)    (b)    
  (c)    (d)      
 
 (10)      ________     . 
  (a)      
  (b)      
  (c)      
  (d)      
 
 (11)      ________    . 
  (a)   (b)   
  (c)    (d)    
 
 (12)    ________    . 
  (a)   (b)   
  (c)   (d)   

_____________ 
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M.Com., Sem.-II 
EA/EE – 411 : Cost-Accounting – I  

Time : 2 Hours]  [Max. Marks : 50 
 Instructions : (1) All questions in Section-I carry equal marks. 
   (2) Attempt any two questions in Section-I. 
   (3) Section-II is compulsory. 
 

 SECTION – I 
 Attempt any two questions. 
1. The following balances appeared in the cost ledger of ALISHA Company Ltd. as on 

01-04-2021 :     20   Particulars Debit 
(`) 

Credit 
(`) 

Stores ledger control A/c. 80,000 – 
Work-in-Progress ledger control A/c. 60,000 – 
Finished goods ledger control A/c. 40,000 – 
General ledger adjustment A/c. - 1,80,000 
 1,80,000 1,80,000 

 Transactions for the year ended 31st March, 2022 were as under :   Particulars ` 
Purchase of materials  3,00,000 
Carriage inward 10,000 
Material issued to production 3,20,000 
Material issued to repairs 20,000 
Direct wages 4,80,000 
Indirect wages 20,000 
Actual factory overheads paid 1,00,000 
Actual administrative overheads paid 20,000 
Actual selling overheads paid 30,000 
Factory overheads recovered 1,60,000 
Administrative overheads recovered 18,000 
Finished goods produced during year 9,70,000 
Cost of sales 9,78,000 
Sales 12,90,000 

 From the above information prepare necessary accounts in the cost ledger of the 
company and prepare Trial Balance as on 31-03-2022. 
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2. (A) A mobile manufacturing company has received an order to supply 350 mobiles. 
When company has completed the production of first 50 mobiles, the total cost 
was as follows :   10    

 (`) 
Direct Material 1,00,000 
Direct Labour [10,000 hours  ` 10] 1,00,000 
Tooling Cost [re-usable]  50,000 
Variable Overhead [10,000 hours  ` 5] 50,000 
Fixed Overhead 1,00,000 
 4,00,000 

   An 80% Learning curve is thought to be pertinent in this case. The manager 
believes that the quotation is unlikely to be accepted if it exceeds ` 12,25,000 and 
as the company is short of work it believes that the contract is vital. 

   Can the contract be accepted at ` 12,25,000 ? 
 

 (B) Distinguish between cost control and cost reduction. 10 
 
3. BINITA Ltd. manufactures two products ‘X’ and ‘Y’. Both products are produced with 

the help of same machinery and similar processes. The detailed information is as 
follows :     20   

Particulars ‘X’ ‘Y’ 
Annual Production Units 3000 2000 
Machine hours per unit 6 3 
Direct Labour hours per unit 3 5 
No. of purchase orders 100 50 
No. of set-ups 300 100 

 The cost of various activities are as follows :   

 (`) 
Related to volume 87,500 
Related to machine activity 2,40,000 
Related to purchase order 22,500 
Related to no. of set-ups 30,000 
 3,80,000 

 Overheads are based on direct labour hours. 
  Prepare Cost Statement showing per unit cost and total cost under 
 (1) Conventional System and 
 (2) Activity Based Costing System 
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4. (A) A Company produces 1,00,000 calculators at 50% capacity. The present cost per 
calculator is as follow :   10    

 (`) 
Direct Material 32 
Direct Labour 8 
Factory Overheads 48 (50% Fixed) 
Selling Overheads 8 (25% Variable) 

  Selling price per calculator is ` 120. 
  During the current year they intend to produce the same number but anticipates 

that... 
  (1) Their Fixed Cost will go up by 10%. 
  (2) Rate of direct labour will increase by 10% 
  (3) Rate of direct material will increase by 10% 
  (4) Selling price cannot be increased. 
   Under these circumstances they obtain an order for a further 10% of their 

capacity. 
   What minimum price will you recommend for accepting the order to ensure 

the company an over all profit of ` 21,00,000 ? 
  Assume that the fixed cost is recovered out of the current production. 
 
(B) Discuss different methods of pricing.   10 
  

Section – II 
5. Select correct answer for the following sub-questions : (Any five) 10 
 (1) Non-integrated Accounting System is also known as ________. 
  (a) Cost Control Accounting (b) Cost Accounting 
  (c) Financial Accounting (d) None of the above 
 
 (2) Abnormal loss of material will be debited to ________. 
  (a) Costing Profit and Loss Account 
  (b) Stores Ledger Account   
  (c) Work-in-progress Account 
  (d) Overhead Account 
 
 (3) In Non-integrated Accounting cash transactions are recorded in ________. 
  (a) General Ledger Adjustment Account 
  (b) Cash Account 
  (c) Debtors Account 
  (d) None of the above 
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 (4) ________ is affected by Learning Curve. 
  (a) Direct Material (b) Direct Wages 
  (c) Variable Overhead (d) Fixed Overhead 
 
 (5) In ABC analysis of Inventory, ‘B” class items require _______. 
  (a) Strict Control (b) Moderate Control 
  (c) Loose Control (d) None of the above 
 
 (6) If overheads absorbed are higher than actual overheads incurred, the situation is 

called _________. 
  (a) Under absorption of overheads 
  (b) Over absorption of overheads 
  (c) Allocation 
  (d) None of the above 
 
 (7) Activity Based Costing System has relation with ________. 
  (a) Direct Material (b) Direct Labour 
  (c) Overheads (d) None of the above 
 (8) _________ is not terminology of Activity Based Costing System. 
  (a) Cost Pool (b) Cost Driver 
  (c) MRP  (d) Overheads 
 
 (9) ________ is not a benefit of Activity Based Costing System. 
  (a) Accurate Cost Allocation (b) Improved Decision Making 
  (c) Reduction of Prime Cost (d) Better Control on Activities 
 
 (10) Variable Cost pricing is also known as ________ 
  (a) Full Cost pricing (b) Direct Cost pricing 
  (c) Conversion Cost pricing (d) Marginal Cost pricing 
 
 (11) ________ is not included in Conversion Cost pricing. 
  (a) Direct Labour (b) Indirect Labour 
  (c) Production Overhead (d) Administrative Overhead 
 
 (12) ________ is a limiting factor in product pricing.  
  (a) Consumer Demand (b) Government Laws 
  (c) Competitors Reaction (d) All of above    

_____________ 


